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4.45 How fast is the area of an isosceles right triangle growing when the hypotenuse is 6

inches long and is growing at a rate of 1 inch per minute?
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1.51 Dr. Richardson wears a laser pointer on the top of his head that rotates horizontally
at a rate of 30 revolutions per minute. He stands 4 feet from a dark wall nearby, and
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the light makes a moving dot on the wall. When the dot on the wall is exactly 5 feet
from Dr. Richardson, how fast is it moving?
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Type some Sage code below and press Evaluate.

1 f(x)=x™4+x"3=12%x+250
fp(x)=diff(f(x),x)
show(f(x))

show(fp(x))
ans=solve(fp(x)==0,x)
show(ans[@].rhs().n())
show(ans[1].rhs().n())
show(ans[2].rhs().n())
show(ans[2])
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